N

NOTES:

REV

a |DTHB-12P%-GO03

REVISIONS

SYM DESCRIPTION DATE | APPROVED
= = NC |NEW RELEASE PER E.O. P17308 9/24/01] R.D.R.
A |REVISED PER E.O. P21065 8-2¢-1) | /DA
= =
Jii D vEW
128 igf034]
. | 186 —a [3.10] -
[30.12] L - 350
[9.12]
A u
- i
9.21] > ST 2
. = .38 || 253
[40 = [35.08] = ([ [6.43]
.94] - t 3 ‘
[49.30]
] A 'NGJ
i I )
' | _— —/
@110 [2.79]
@ .122 [3.10] BLIND HOLE
BLIND HOLE EPY ¥ .315 [8.00]
V440 [11.18] P15 521 $4-20 SCREW - | 388 —
#6-19 SCREW [35.26]
6. RECOMMENDED TORQUE VALUES ARE AS FOLLOWS: #6-19 SCREWS:10-20 IN LB. @5
[1.13-2.26 N-M1. #4-20 SCREWS: 6-10 IN LB. [.68-1.13 N-M]1.
5. MOUNTING HOLES WILL ACCEPT CAMCAR PLASTITE SELF THREAD SCREWS STGNATURE & DATE PCB_MOUNT EP T
(NOT INCLUDED). EXAMPLE: #6-19, #4-20. R | 2. BURKE 6/8/01 RECEPTACLE & T A
4. THIS RECEPTACLE MATES WITH DT06-12S% PLUG -#s%%- ALL MODIFICATIONS. [cux [§ Qyled %4700 2 PNS STRAIGHT scHHEMET' CA 92545
3. SHELL MATERIAL: PLASTIC; FLANGE SEAL MATERIAL: RUBBER. e Wil 6/<)1) DT SERES ~ TWDUSTRTAL
2. DIMENSION TOLERANCE %.025 [.641. FOR PANEL CUTOUTS £.010 [.25]. |— SZ ’8/3:/, B | DT15-12P%-G003
|. DIMENSIONS SHOWN IN INCHES [MILLIMETERS]. SCALE. NONE ENVELOPE ows [ o | SREET | OF 7




B KEYWAY

REV

DT15-12P%-G003

REVISIONS

SYM DESCRIPTION DATE | APPROVED
A SEE SHEET ONE S:26-// /@&(’
- 1,637 —=
[41.58]
~=— | . 395 =

DATE CODE [49.30]
) Bl {4?3281 ]
o OF \/\ 155 2X
e | /" [3.94]
Allciar |
g s o H\ Y
O (0)~
(X
)
g, i !
DT15-12PA-G003 DT15-12PB-G003 DT15-12PC-G003 DT15-12PD-G003 149.301
COLOR GREY COLOR BLACK COLOR GREEN COLOR BROWN RECOMMENDED PANEL CUTOUTS @
SIGNATURE & DATE PCB MOUNT EP MATL
SR o RO | f i A
PE Aicbe, /<1 DT SERES ~TNDUSTRTAL
| T = B | DT5-12P%-G003
NOTES: : %ﬁ%@ ENVELOPE pie [ CpPR, [ SHEET 207 2




